No. of Printed Pages : 11 BECC-101
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BECC-101 : INTRODUCTORY MICRO
ECONOMICS
Time : 3 Hours Maximum Marks : 100

Note : (i) Answer questions from each Section as
per instruction given.
(it1) Section-A : Answer any two questions
from this Section.
(iii) Section-B : Answer any four questions
from this Section.
(iv) Section-C : Answer both the questions

from this Section.

Section—A

1. (a) What do the following signify ? 6

(i) Movement from one point on the PP-
curve to another.

P.T.O.



(b)

(©

(a)

(b)

(a)
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(1)) Movement from a point within the

frontier to point on the frontier.
(111) An outward shift in PP-curve.

“Economics i1s a science of choice making.”

Explain this statement. 6
Distinguish between the following : 8
(i) Static and Dynamic Economic analysis

(11) Micro Economics and Macro

Economics

Which causes of shortage of a good—a price
ceiling or a price floor ? dJustify your

answer with a graph.

What determines how the burden of a tax
1s divided between buyers and sellers ?

Why ? 10+10=20

“A typical production function has three
stages.” Explain and illustrate graphically.
In which stage of production does the firm

typically operate ?



(b)

(a)

(b)

(a)
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Use Iso-quant and Iso-cost curves to
explain how a producer (1) minimizes the
cost of production for a given level of
output, (11) maximizes output for a given

cost. 10+10=20
Suppose that a competitive firm has a total
cost function C=450+15q+ 2q2 and the

marginal cost function MC=15+4q. If the

market price is P = ¥ 115 per unit, find the
level of output produced by the firm and
the level of profit.

What is the price discrimination ? Explain
the different degrees of price

discrimination. 10+10=20
Section—B
Given the demand and supply equations as

QOI =150000—3P and Q°=7P, respectively,

sketch the curves and (if any), calculate :

(1) Consumer surplus

P.T.O.
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(b)

(a)
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(i1) Producer surplus

(111) Deadweight loss when unit tax of

T 5,000 per unit is levied.

Given the demand function
Q, =8000-1000 P, determine the elasticity
of demand at a single point, where price of

T 6 and the corresponding quantity of 2000
units. 9+3=12

Discuss the law of equi-marginal utility.

What is the inferior goods ? Must the
demand curve for an inferior good slope
downward ? Explain with the help of 1.C.

(indifference curve) analysis. 6+6=12

Explain the technique of splitting the price

effect into its components of substitution and

income effects for a Giffen good. 12

(a)

Define expansion path. Show graphically
expansion path in case of linear
homogeneous production function in the

short-run and the long-run.



10.

11.

12.
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(b) Discuss the concept of long period economic
efficiency. 6+6=12

(a) A firm is operating at a loss. Explain why
the firm might stay rather than exit the

market.

(b) Distinguish between economic profit and

accounting profit. 6+6=12

Write short notes on any three of the
following : 3x4=12

(a) Comparison of monopoly with perfect

competition
(b) Kinked demand curve analysis
(¢) Ricardian theory of Rent
(d) Excess Capacity

Section—C

What do you mean by market failure ? Explain
the sources of market failure. 6

Define the fundamental role of the marginal
cost in achieving efficiency in a perfectly

competitive market. 6

P.T.O.
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Qug—ch

1. (1) FmAfaftad @ 2o © 2 6

() SAREA HHEA 9k (PP-Curve) W Teh

fog ¥ 3 W fo=ru
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. () HHA-T Th oG HI HH B HROT A
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4. ()T f& TH UfqArt ®H w1 wA A Hed

C=450+15q+2¢° & @ W= @F
®eH MC=15+4q @1 A% oK e

P=2¢%115 Ufd s%E & @ ®H & EN

3T IR bl TR qAT o9 hl TR A
T
(9) ®imd favg =1 8 ? *Ad fadg =1 fa=

Hifedi &1 = Sifsu) 10+10=20
gues—a
5. (sHEM @en qfd wHiew  wEel:

Q¢ =150000-3P deM Q°=7P fEu U ¥,

R (@fed) ST qen MUET HiST

() I i =
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(ii) STRH I T4
(i) IRd &fd S& T 5,000 FT FHE H
SRIET Sl 2
(%) /1 wed Q, =8000-1000P, f&m @ ¥,
T fag W A F A @ i Sy,
Sl ®IFd T 6 qUT FHEfUd (STEY) A

2000 ST 2| 9+3=12

(37) TH-HH sy fem &t ==t sifs)
(9) € a&qq 0 ® ? N € 9% 1 | 9%
= w1 AR B o=feY ? SSEAAr 9%

faveror &1 e 9 AR Sifsu|

6+6=12

T e a5 & fau &iHd 99@ & 38

gfaeeq T 3™ Wl % uesh! ° fawnfea

{1 HI bl i AR Hifd| 12
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8. (31)fomr wu =i uftenfog wifSu) STedehter qen

defehlel H @I GHEY IART Tl ol

feafs d fowr 9o =1 W@fes 9§ =
it

(9) e ofafy onfYfeh @l H STEUNON I
== IS 6+6=12

9. (3N TH WH T & fufg ¥ & =X @ 7
gzt fo wH IR 9 96l e &
I A I W@ Gehdl 7

() anfeler oM qen <EihT o9 o HeF faug
T 6+6=12

10. fr=fafaa § 9 fo<dl &7 W dfia fewforr
fafeu . 3x4=12

(30) qui SfeRifiTar & |el TR 1 g

P.T.O.
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